k é ? " & YMHOXbTE JIeCITUUHBIE JPOOH Ha OTpULIATENIbHbIE
CTEIIEHU JECATH.

WUms: Jata: ___ Ouenka:___
8595, 1 x0.0001 = 8124,9 % 0.001 =
3365,9 x 0.0001 = 4172,4 % 0.01 =
9497, 1 % 0.001 = 2295, 1 x0.001 =
4297, 1 % 0.0001 = 3939,7x0.1 =
9311,3x0.01 = 8143,5 % 0.0001 =
6085, 2 x 0.001 = 7009, 6 x 0.001 =
8476,5 % 0.01 = 1167,7 x 0.1 =
2479,6 x 0.1 = 6404, 6 x 0.001 =
3479,6 x 0.1 = 8545, 1 x0.0001 =
2655,4 % 0.0001 = 9164,4 x 0.1 =
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M é ? ~ & VMHOKbTE JECATUYHBIE POOH HA OTPHIIATEbHbIE
CTENEHH JIECATH.

Pws: Jata: ____ Ouemka:
8595, 1 x 0.0001 = 0.85951 8124,9 x 0.001 = 8.1249
3365,9 % 0.0001 = 0.33659 4172,4 x0.01 =41.724
9497, 1 x 0.001 = 9.4971 2295, 1 x0.001 = 2.2951
4297, 1 x0.0001 = 0.42971 3939,7 x 0.1 =393.97
9311,3 x0.01 =93.113 8143,5 % 0.0001 = 0.81435
6085, 2 x 0.001 = 6.0852 7009, 6 x 0.001 = 7.0096
8476,5 % 0.01 = 84.765 1167,7x 0.1 =116.77
2479, 6 x 0.1 = 247.96 6404, 6 x 0.001 = 6.4046
3479,6 x 0.1 = 347.96 8545,1 % 0.0001 = 0.85451
2655,4 % 0.0001 = 0.26554 9164,4 x 0.1 =916.44
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